
 Lesson 16 Exit Ticket 3•3 

Name Date 

1. Complete.

a. _____ × 1 = 5 b. 6 × _____ = 6 c. _____÷ 7 = 0

d. 5 × _____ = 0 e. 1 = 9 ÷ _____ f. 8 = 1 ×  _____

2. Luis divides 8 by 0 and says it equals 0.  Is he correct?  Explain why or why not.

Page 39 of 58



 Lesson 17 Exit Ticket 3•3 

Name Date 

1. Use what you know to find the product of 8 × 12 or 6 eights + 6 eights.

2. Luis says 3 × 233 = 626.  Use what you learned about odd times odd to explain why Luis is wrong.
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 Lesson 18 Exit Ticket 3•3 

Name  Date 

Use the RDW process to solve.  Explain why your answer is reasonable. 

On Saturday, Warren swims laps in the pool for 45 minutes.  On Sunday, he runs 8 miles.  It takes him 9 

minutes to run each mile.  How long does Warren spend exercising over the weekend?  
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 Lesson 19 Exit Ticket 3•3 

Name Date 

1. Use the chart to complete the blanks in the equations.

 6 × 5 ones = ______ ones      6 × 5 tens = ______ tens 

      6 × 5 = ______   6 × 50 = ______ 

2. A small plane has 20 rows of seats.  Each row has 4 seats.

a. Find the total number of seats on the plane.

b. How many seats are on 3 small planes?

tens ones tens ones 
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